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Maths • Time & Work

4. Swati is 50% more efficient than Priya and to-

gether can do a piece of work in 6 days. Rathi

alone can do the same work in 5 days more

than Priya. If Swathi gets a share of ` 1800.75,

then find the total share Swathi, Priya and

Rathi working together ?

50% 6 

5 

` 1800.75 

(A) ` 3901.62 (B) ` 5,201.62

(C) ` 3,601.62 (D) ` 5,401.62

2 person work
A = x, B = y, C = z wages = p. Find the

share of A/B/C = ?

5. A can do a work in 8 days, B can do the same

work in 10 days and C can do the same work

in 12 days. If all three of them do the same

work together and they are paid Rs 7400, then

what is the share (in Rs) of B?

A B

C

`
B

(A) 2600 (B) 3000

(C) 2400 (D) 2000

6. A, B and C individually can finish a work in 6,

8 and 15 hours respectively. They started the

work together and after completing the work

got Rs.94.60 in all. When they divide the

money among themselves, A, B and C will re-

spectively get (in Rs.) (CAT Previous Year)

A, B C 6, 8 15 

` 94.60 

A, B, C 

(a) 44, 33, 17.60 (b) 43, 27.20, 24.40

(c) 45, 30, 19.60 (d) 42, 28, 24.60

2 person work
A = x, B = y, wages = z. Find the share

of A/B = ?
1. A and B can complete a piece of work in 15

days and 10 days respectively. They got a con-

tract to complete the work for ` 75000. The

share of B (in `) in the contracted money will

be :

A B 15 10 

` 75000

B (` )

(A) 35,000 (B) 40,000

(C) 45,000 (D) 30,000

2. A and B can complete a piece of work in 4.5

days and 9.9 days respectively, They got a con-

tract to complete the work for ` 80000. The

share of A (in `) in the contracted money will

be:

A B 4.5 9.9 

` 80000 

A ` 

(A) ` 45,000 (B) ` 55,000

(C) ` 40,000 (D) ` 35,000

2 person work
A = x, A + B = y, wages = z. Find the

share of A/B = ?
3. If A had worked alone he would have taken

63 hours to do the task. What is B's share, if A

and B work together on a task finishing it in

36 hours and they get paid Rs 5,950 for it?

A 

B A B 

5,950 

(A) 3400 (B) 3600

(C) 2550 (D) 2750

2
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2 person work
A = x, B = y, A + B + C = z. Find the

share of A/B/C = ?
7. Working alone A can do the task in 27 hours

and B can do it in 54 hours. Find C's share (in

Rs) if A, B and C get paid Rs 4,320.20 for com-

pleting a task in 12 hours on which they

worked together.

A 27 

B 54 C A, B

C 4,320.20 

(A) 1440.06 (B) 960.06

(C) 1920.06 (D) 1280.06

8. Sandy and Mandy do (8/13)th part of a work

and the rest of the work was completed by

Andy. If Sandy, Mandy and Andy take the

same work for Rs 2626, then what is the share

(in Rs) of Andy?

(A) 1600 (B) 1400

(C) 800 (D) 1010

2 person work
A = x, B = y, C = z wages = p. They

work together for some time. Find the

share of A/B/C = ?

9. A, B and C can independently do a work in 15

days, 20 days and 30 days, repectively. They

work together for some time after which C

leaves. Total of ` 18000 is paid for the work

and B gets ` 6000 more than C. For how many

days did A work ?

A, B C 15, 20 30

C ` 18000

B C , ̀ 6,000 

A

(A) 2 (B) 4

(C) 6 (D) 8

10. A, B and C alone can finish a certain work in

15, 20 and 30 days respectively. They start

working together and after some days C left

the work. At the completion of work, they were

paid total of ` 27000, and B received an

amount ` 9000 more than C. Find the number

of days for which B worked.

A, B C 15, 20 30 

C ` 27000 

B C ` 9000 B 

(A) 4 days (B) 2 days

(C) 8 days (D) None of these

11. Samir and Puneet can complete the same

work in 10 days and 15 days respectively. The

work was assigned for `4500. After working

together for 3 days Samir and Puneet involved

Ashok. The work was completed in total 5 days.

What amount (in `) was paid to Ashok?

10 15

`4500 3 

5

` [CGL Pre 2020]

(A) 1071 (B) 750

(C) 800 (D) 1500

12. Sachin alone can complete a piece of work for

`8500 in 8.5 days. But with the help of Vishnu

the work is completed in 6 days. The share to

be paid Vishnu?

`8500  8.5 

6 

     [CHSL 2020]

(A) ` 3200 (B) ` 2500

(C) ` 2400 (D) ` 2000
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Solutions
1. (C) A B

Eff. 10 15

2 3

B = 
75000

3
5

 = 45000

2. (B) A B

4.5 9.9

Eff. 11 5

A = 
80000

16
× 11 = 5000 × 11 = 55,000

3. (C) 4A —  63

7A + B — 36 252

So B's efficiency = 3

B's Share = 5950 × 
3

7
 = 2550

4. (A) ATQ,

Swati Priya

Efficiency 3 : 2

total work = 6(3 + 2) = 30

T
Priya

 = 
30

2
 = 15 days

T
Rathi

 = 15 + 5 = 20 days

So, Swati : Priya : Rathi

efficiency 3 : 2 :
30

20
= 6 : 4 : 3

So, Total wages = 
13

6
 × 1800.75 = ` 3901.62

5. (C) Total work = 120

A — 8 — 15

B — 10 — 12

C — 12 — 10

A : B : C

W/c 15 : 12 : 10

B =
7400

12
37

 = 2400

6. (A) A     6

B     8

C     15

120

20

15

  8

A's share =  
20

43
 × 94.60 = 44

B's share =  
15

43
 × 94.60 = 33

C's share =  
8

43
 × 94.60 = 17.60

7. (A) 4A— 27

2B — 54 108

9(A + B + C) —12

Now efficiency of C = 9 – (2 + 4) = 3

Share of C = 
3

4320.06
9

 = 1440.06

8. (D) Sandy + Mandy = 8/13

Andy—5/13

Share of Andy =
2626 5

13
 = ` 1010

9. (D) A

B

C

4

3

2

15

20

30

60

let A & B worked for x days and C worked for

y days

 (4 + 3) x + 2y = 60

 7x + 2y = 60 ...(i)

And

3x 2y

7x 2y
 × 18000 = 6000

by eq. (i)

3x 2y

60
 × 3 = 1

 3x – 2y = 20 ...(ii)

by eq. (i) and eq. (ii)

10x = 80

 x = 8 days

So, A worked for 8 days

10.(C) A

B

C

15

20

30

4

3

2

60

Let A and B worked for x days and C worked

for y days.

 7x + 2y = 60
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and 
3x 2y

7x 2y
 × 27000 = 9000

 7x + 2y = 9x – 6y

 x = 4y

So,

7 × 4y + 2y = 60

 y = 2 days

 x = 8 days

So, B worked for 8 days.

11.(B)

3 days work together = 3 × 5 = 15 work

Remaining  work = 30 – 15 = 15

Samir + Puneet + Ashok work together for 2

days = 15 work

Per day work efficiency = 
15

2
 = 7.5

   Samir Puneet Ashok

Eff.         3      :       2      : 2.5  = 7.5

Work done by Ashok = 2.5 × 2 days = 5 work

Ashok's wages = 
4500

30
 × 5 = `750

12.(B)

Eff.            S : V

                 6 : 2.5

share of Vishnu = 
8500

8.5
× 2.5

                           = `2500


